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Questions: 12 :
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Instructions Dynamic Time
sgrt(4)= square root of 4 =2<<< Arctan = tangent inverse<<< Arcsin = . .
sneinvers<s<< Pi = 3.14....<<< d*2y / dx"2 = y"(x)<<<< Question Time 10:39:58
delivery: Deliver questions one at atime and do not allow questionsto  Allowed 00:50:00
be revisited. Remaining 00:46:40
1. Question Status
(Points: 4) 73 Unanswered
If'y = (sart(x) - Vsart(x) )2 , then y*'= [1] Answer not saved
" Answered
Oa-2 i1 2 3 4 >3
i () i i ()
O b. - 4x"(-6) 6 7 8 9 10
O . () () i () ()
C. - 6x7(-4) 1 12
O d. 2 x7(-3) @ O
Oeo
Save Answer
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Assessment

The equation of the tangent line to the graph of
y=-Pi +4 Arctan(2/x) atx = 2is

Oay=Pix-2Pi
Oby=-x+2

Ocy=-Pix+2Pi

Ody=-x+Pi
Oey=2x-4
Save Answer

3.

(Points: 3)

If x"2 + y~2 = 10, then the value of d*2y / d x"2
atthepoint(1,3)is

O a sort(2)/2
O b.-10/27
O c.10/3

O d.-26/3

Oeo

Save Answer

4.
(Points: 4)
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lim_{x -->-2} [tan(x+2)/(x"2-4)] =

Oa4

Ob.-4
O c 14
O d.-14

O einf

Save Answer

S.

(Points: 4)
If y = sgrt( sin(csc( Pi*x) ) ), then the product
2*y(1/4)*y'(1/4) isequal to

O a sqrt(2)* Pi* cos(sart(2))
O b. srt(2)* Pi* cot(sqrt(2))
O c. syrt(2)* Pi* cse(sqrt(2))
O d. -sqrt(2)* Pi*sin(sart(2))

O e. -sgrt(2)* Pi* cos(sgrt(2))

Save Answer

6.
(Points: 4)
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If (0,a/4) are the coordinate of the y-intercept of the
tangent line to the graph of
y = Arcsin(2x) at x = sgrt(2)/4, then a=

OaPki-1

O b.Pi +4

O c. Pi +4srt(2)
O d. 4 sgrt(2) Pi

OePi-4

Save Answer

1.
(Points: 3)
If aparticleis moving according to alaw of motion S(t)=3cos

(PI*t/2) where t is measured in seconds and S in meters, then the
total distance traveled by the particle during the timeinterval [0,7] is

O a 12 meters
O b. 24 meters
O c. 21 meters
O d. 18 meters

O e 15 meters

Save Answer

8.
(Points: 3)
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Ify=In[2(x+sgrt(x*2-1))/ 3], then
y'(sart(2)) =

O a U(1+sgrt(2))
O b. 23

O c. 2(1+srt(2))/3
Od1

O e 3?2

Save Answer

9.
(Points: 3)
If f(X)=x"(In Xx), then f*(e)=

Oal
O b.2
Oc.e
O d4e

Oede2

Save Answer

10.
(Points: 3)
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If f(x)= 27(-x) * x2, then f*(1)=

Oao

O b.1+(1/2)In2
O c.16(1+1In2)
O d.1- (12) In2

Oe1l

Save Answer

11.
(Points: 3)
If f(x)=sin(2x), then ~(99) (0)=

O a 2/(99)
O b. -27(99)
O c.-2/(98)
O d. 27(98)

Oeo

Save Answer

12.
(Points: 3)
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Assessment

Which one of the following statementsis TRUE?

O a If giscontinuous at a, then g is differentiable at a
O b. If lim {x-->a} g'(x) exists, then g' is continuous at a
O c. If g isdifferentiable at a, then g'(a) exists.

O d. If g'(a) does not exists, then g is discontinuous at a

O e If g(a) = 0and g'(a)=0, then g"(a)=0

Save Answer
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